TSI Tutoring - Palmview HS - Math Dept

0- Arithmetic ( numbers and fractions, PEMDAS , evaluating algebraic expressions )

Evaluate each expression.

1)1-3 2)4—(-1)

3) (=6)—(-8) 4) (-6)+8

5 (=3)-3 6) (—=8)—(=3)
7) 3—(-5) 8) 7T—7

9) (=7)=(=5) 10) (=4)+(-1)
11) 3—(—=1) 12) (=1)+(-6)
13) 6—3 14) (=8)+(-1)
15) (=5)+3 16) (—1)-8
17) 2-3 18) 5-7

19) (=8)—(=5) 20) (=5)+7
Find each product.

31) (4)(=1) 32) (7)(=5)

33) (10)( —8) 34) (=7)(-2)
35) (= 4)(=2) 36) (—=6)(—1)
37) (= 7)(8) 38) (6)(—1)

9) (9)(—4) 40) (=9)(=T7)
1) (=5)(2) 42) (-2)(-2)
43) (—5)(4) 44) (=3)(-9)
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Find each quotient.

16) 2 a7) =2
48) =2 49) =2
50) 2 51) 2

52) & 53) —
5) =5 55) =
56) % 57) =22

Simplify each. Leave your answer as an improper fraction.

1) & 2) =
3) o 1) 2
5) = 6) =
7) & 8) 3
9) = 10) =
11) = 12) =
13) = 14) 2
15) = 16) 4=
17) = 18) 1
19) > 20) 1o
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Find each product.

21) (9)(5)

23) (2)(-3)
25) (- 2)(%)
27) (-3)(—%)
29) (8)(3)

31) (5)(3)

33 (2)(3)

35) (3)(—1)

=1

[

Find each quotient.

37) =23

-1 -1
39) v+
1) 2+ 2
43) =1+

45) S+ <

-9 .1

-2 -3
49) 5+
Sy 1.3
51) T

26) (3)(3)

28) (-3 (-3
30) (—2)(—7)
32) (= 3)(—3

38) ==+ —
40) =2+ 2
2)2+1
44) T+ —6
46) -+ =
48) =2+ =2
50) 5+ 5
52) 2+ 2
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Evaluate each expression.

53) 5+(=3) ) 7+ (=)
55) 2—1 56) 5+ =

57) 441 58) (—=2)+(-3)
59) 243 60) (=1)=3
61) 3 +7 62) 7 =7

63) 5+ (-7) 64) (—2)+3

65) 1+ (- 3) 66) 3= 5

67) (—3)+3 68) 53

69) £ +2 70)5-3

Solve

1) —6-4(—=1) 2) (—6+6)*

3) 34 (8) + |4 4) 5(=5+6)-62
5) 8+4-2 6) T—5+6

7 [-9-(2-5)]+(-6) 8) (=2-23.2)+(—4)

9) —6+4(—=3-3)"=|3

11) 4 - 2|3% - 16|

13) [-1—(=5)]|3+2| 14) —3—{3—=[=3(2+4)—(=2)]}

15) 2+4|7+27
12453 16) —4—[2+4(=6)—4—|22=5-2|]
-, | -18
17) [6-24+2—(=6)](=5+ T|] 18) 2-(=3)+3=6[=2—(=1—23)]
—13-2
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Evaluate each using the values given.

1) p+1+g—m;usem=1,p=3,q=4 2) Y¥*+y—z;usey=>5,2=1

3)p—%;usep=ﬁandq=5 4) ﬁ+:_y;usey=1,z=4

5) = (a—1);usea=3andc=>5 6) 4+ 6z —4y;user=06,y=4,2=4

7) 5J+%;“59h=5:j=4¢k=2 8) 5(b+a)+1+cusea=2,b=6,c=5
9}w+q;usem=4jp=ﬁ,q=ﬁ 10) z+x—(12)%usex=5,2=4

11) m-l-n+m+;;usem=landn=2 12) 34 z2—-14y—1;usey=5,2=41
13) g—p—(g—1=3);usep=3,q=6

14) p+(qg—=r)(6=p)iuse p=6,9g=5,r=>5

15) y—=[d—y—(z—z)}; user=3,y=1,2=6

16) 4z —(z+x—(2—2));usex=3, 2 =2

17) kx3*=(j+k)=>5;use j=4,k=5 18) a*(¢* — ¢);usea=3,c=2

19) zox — (2 —“%);115&1::2,::6 20) 5+qp+pg—qusep=6,q=3



